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1. st

#include <stdio.h>

g

int main()
{ unsigned char a=38,b=49;
a”=b; b”=a a”’=b;
printf(*a=%d , b=%d\n”, a,b );

return O;

}

2. sl

main()
{

char p;
char buf[ ] ={ 't t, v, &, iy gl
p = (buf+1)[3]; : ‘
printf("%c" , p); ,,
}

3. sy a gPeR

void foo(int [][3] );

main()

{

inta[3][3]={{1,2,3}, {4,5,6},{7,8,9}};
foo(a);

MEABITEL - FRES a IRERMA?Y
}

void foo( int b[][3])

{

++ b;
b[1][1] =100;
}
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A, vy meatimis

void f1(int *, int);
void(*p[2]) (int *, int);
void f1(int* p , int q)
{

int tmp;

tmp =*p;

P=0q;

g=tmp;

}

int main()
{

int a;

int b;

p[0] = p[1] = f1;
a=5; b=10;

p[0](&a , b);

printf("%d\t %d\t" , a ,k
p[1](&a, b);
printf("%d\t %d\t" , a ,b);
}

5. simtid s

void foo(int );

main()
{
int a=3;
foo(a);
}
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void foo(int n)
{
if(n>0)
{
foo(--n);
printf("%d" , n);
foo(n--);

}

6 o EH—17 C FEUHE B % X (8bit)[1 LSB (least-significant bit)[*{E /#5502
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8. w5 et i
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static unsigned char font[]=
{

0x38,

Oxéc,

Oxc6,

Oxfe,

Oxc6,

Oxc6,

Oxc6,

0x00
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9 « Write a routine that rotates the bit pattern for the character ¢ left b bits.

unsigned char rol (unsigned char c, unsigned char b);

ex. k=rol(0xa3,2); k—>0x8e

10.  snpemtwmtmine

#include <stdio.h>

vold foo(int *a, int r, int nj

{

int k=alr]:
int j:
{(J=2*r+1l; Jj<=n; J=3%2+1)
{
(J<n)
(a[3+11>aljl) J++:
(k>=a[]]} ;
al(J-Ly/21=al]jl:

}
al (1-1)/2]1=k;
}

int main {void)
{
int i,73:
int b[1l0]1=i4,7,1,5,15,12,9,6,3,81:;
int n=10;
n=n-1;
(i=in-1)/2; i>»=0; i--)
fooib, 1,n 1:

(9=0; 3<10; J++4)
printf ("sd\t", bB[J1);

printf{"\n";
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